| Efficiency vs Dxy |
> 0.8
<

o
\‘

efficiency vs d
o
(o)

o
&)

o
~

o
w

o
(S

0.1

0
1

RN RN
AL e Y

- 9900 e oty --- & - -

Ratio

0.9

0.8

&hfgﬁ:‘;: it
0 5 10 15 20 25
TP dxy (cm)

0155 -50-15-10 -5

—=— DQM_V0001_R000000001__ Global__CMSSW._ckfnocut3 RECO

| Efficiency vs Dz |

—— DQM_V0001_R000000001__Global__CMSSW_mknocut3 RECO

z
o
©

o
\‘

o
o))

efficiency vs d

© o
> w»

o
[

o ©
= N
IIII|IIII|IIII|IIII|IIII|IIII|IIII

M|

t-A¥FH - -

1

LG L

Ratio

0.9

. . . ol e

0.8

LN L L

0735 =20 0 10 20 30

TP dz (cm)



	Contents
	Page 1


